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�"����# $� �	%�&	�� ��� ���� ���	%�&��� �
�����# � �	�	'�%����
� �������� �	(	%�!
��(� ��(%��� �	%��	"���� �� ����)��	��*� +��'%��� ����'� ���%��&��	�� ����'��
�	�	�� � ���	��� ��������� ��������� ��� �
�"���� 	'� �������(� ��������� , -�.
����	���� �
��� �����	��� �	 "������� ����)���� �'������� �	�	�� ����	����� �	!
%�&��(� %��� ��� �	�� ��	���(� ��� �
�"��	 '	(	����
����(� ���������(� ��������
���%������������ � ��)����/ �'%	��� Ω ⊂ Rn � (%	���* 
�&�* ∂Ω� 0���'�	 �	�	�	
�%� �������� ���%������������# 	%� � ���
��������# ���%��&��	 � -1.# 	 � -2. 3 �

�%����
� �%��	
� � ��������� 4'�����	 �	�	�	 �%� 	����������(� �������� ��!
�%������������ ���%��&��	 � -5.�
6� �������	"
�# $� ��	��� ��� �
�"��� �������� �	%�&	�� ��� �	����� � ��� ����!

"� � ����������� �
������ +	%�&����� ��� ����������� �
����� ��	&	"���� ����
�*�
7	�	 �	
	 �	�	�	# 	%� � ����
� ��	/���
� �
��	
� �	 �
��	
� ��������	����� ���!
(%����	 � -�.� 4�����
���	 �	�	�	 � 	�	%�(����* ���������* ��	���(� ��� �
�"��	
���%��&��	 � -8.�
�� , �'%	��� ΩT = {(x, y, t) : 0 < x < h, 0 < y < l, 0 < t < T} ���(%���
� �'��!

���� �	�	�� ����	����� ���/��  ���
�/ (a1(t), a2(t), u(x, y, t)) ∈ C[0, T ] × C[0, T ] ×
C2,1(ΩT ), ai(t) > 0, t ∈ [0, T ], i = 1, 2# $� �	����%���*�� ��������

�© �������� ��	 
���
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ut = a1(t)b1(x)uxx + a2(t)b2(y)uyy + c1(x, y, t)ux + c2(x, y, t)uy + c3(x, y, t)u+ f(x, y, t),

(x, y, t) ∈ ΩT , 9�:

���	����� �
���

u(x, y, 0) = ϕ(x, y), (x, y) ∈ [0, h]× [0, l], 91:

��	/��� �
���

ux(0, y, t) = µ1(y, t), ux(h, y, t) = µ2(y, t), (y, t) ∈ [0, l]× [0, T ], 92:

uy(x, 0, t) = µ3(x, t), uy(x, l, t) = µ4(x, t), (x, t) ∈ [0, h] × [0, T ], 95:

�	 �
��� ��������	�����

u(0, 0, t) = ν1(t), u(h, 0, t) = ν2(t), t ∈ [0, T ]. 9�:

;������� �������� �	��� �	�	�� '���
� �������	�� �����	��� �	��� �
��<
(A1) ϕ ∈ C2(D)# �� D = (0, h) × (0, l), µi ∈ C2,1([0, l] × [0, T ]), i = 1, 2, µi ∈

C2,1([0, h] × [0, T ]), i = 3, 4, νi ∈ C1[0, T ], i = 1, 2, b1 ∈ C2[0, h], b2 ∈ C2[0, l], f ∈
C2,2,0(ΩT ), ci ∈ C1,1,0(ΩT ), i = 1, 2, 3;

(A2) S1(t) ≡ ν′1(t)−c1(0, 0, t)µ1(0, t)−c2(0, 0, t)µ3(0, t)−c3(0, 0, t)ν1(t)−f(0, 0, t) �
0, S2(t) ≡ ν′2(t) − c1(h, 0, t)µ2(0, t) − c2(h, 0, t)µ3(h, t) − c3(h, 0, t)ν2(t) − f(h, 0, t) �
0, b1(0)S2(t) − b1(h)S1(t) > 0, S1(t) − S2(t) > 0, t ∈ [0, T ], b1(x) > 0, x ∈ [0, h], b2(y) >
0, y ∈ [0, l], b1(0) − b1(h) > 0, ϕxx(x, y) > 0, ϕyy(x, y) > 0, (x, y) ∈ [0, h] ×
[0, l], ϕxx(β−1

1 (ζ), y) − ϕxx(β−1
1 (H − ζ), y) � 0, ϕyy(β−1

1 (ζ), y) − ϕyy(β−1
1 (H − ζ), y) �

0, (ζ, y) ∈ [0, H/2]× [0, l]# �� βk(s) =

s∫
0

dσ√
bk(σ)

, k = 1, 2, H = β1(h)=

(A3) ϕx(0, y) = µ1(y, 0), ϕx(h, y) = µ2(y, 0), ϕy(x, 0) = µ3(x, 0), ϕy(x, l) =
µ4(x, 0), µ1y(0, t) = µ3x(0, t), µ2y(0, t) = µ3x(h, t), µ1y(l, t) = µ4x(0, t), µ2y(l, t) =
µ4x(h, t), ν1(0) = ϕ(0, 0), ν2(0) = ϕ(h, 0).

���
��� �� ����. /�01234�56� 3�1/� (A1)!(A3)� �17� 8�7�9� : ;!:#; ��< �18/=�

810 / 1>?�6�� ΩT0 @ 7� T0, 0 < T0 � T, /�82�9�<�56� /���72��� 7�2��� 8�7�9��

���������� 0����������# $�  ���
�� ai(t)# i = 1, 2 ����
�# �'������ �	�	�� (1)3(5)
�����
� �� �����
� ������� ��������  ���
�/ a1(t)# a2(t)# u(x, y, t) �	 �������� ���
 ���
�� u(x, y, t) �� ���(�(� ������� ��%*����
0��
	 �	�	�	 9�:395: �����	%����	 �	��
� ����(��!�� ����
�	%���
� �������*<

u(x, y, t) = u0(x, y, t) +

t∫
0

l∫
0

h∫
0

G22(x, y, t, ξ, η, τ)((c1(ξ, η, τ) − 1
2
a1(τ)b

′
1(ξ))uξ+

+(c2(ξ, η, τ) − 1
2
a2(τ)b

′
2(η))uη + c3(ξ, η, τ)u)dξdηdτ, (x, y, t) ∈ ΩT , 98:
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�� u0(x, y, t) " ����)����
 ��������

u0t = a1(t)b1(x)u0xx + a2(t)b2(y)u0yy +
1
2
a1(t)b

′
1(x)u0x +

1
2
a2(t)b

′
2(y)u0y + f(x, y, t),

(x, y, t) ∈ ΩT , 9�:

���/ �	����%���" �
��� 91:395:�

>�(�� '	����# $�

u0(x, y, t) =

l∫
0

h∫
0

G22(x, y, t, ξ, η, 0)ϕ(ξ, η)dξdη −

− b1(0)

t∫
0

l∫
0

G22(x, y, t, 0, η, τ)a1(τ)µ1(η, τ)dηdτ +

+ b1(h)

t∫
0

l∫
0

G22(x, y, t, h, η, τ)a1(τ)µ2(η, τ)dηdτ −

− b2(0)

t∫
0

h∫
0

G22(x, y, t, ξ, 0, τ)a2(τ)µ3(ξ, τ)dξdτ +

+ b2(l)

t∫
0

h∫
0

G22(x, y, t, ξ, l, τ)a2(τ)µ4(ξ, τ)dξdτ +

+

t∫
0

l∫
0

h∫
0

G22(x, y, t, ξ, η, τ)f(ξ, η, τ)dξdηdτ,

9?:

��

Gij(x, y, t, ξ, η, τ) =
1

4π
√

(α1(t) − α1(τ))(α2(t) − α2(τ))b1(ξ)b2(η)
×

×
+∞∑

n,m=−∞

(
@AB

(
− (β1(x) − β1(ξ) + 2nH)2

4(α1(t) − α1(τ))

)
+(−1)i @AB

(
− (β1(x) + β1(ξ) + 2nH)2

4(α1(t) − α1(τ))

))
×

×
(
@AB

(
− (β2(y) − β2(η) + 2mL)2

4(α2(t) − α2(τ))

)
+(−1)j@AB

(
− (β2(y) + β2(η) + 2mL)2

4(α2(t) − α2(τ))

))
,

i, j = 1, 2,

αk(t) =

t∫
0

ak(τ)dτ, L = β2(l).
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0���� ����
�*�	��� �������� (6) �	 �
����
� x �	 y � ������ ����	����� ux =
u1, uy = u2# ����
	"
�

u1(x, y, t) = u0x(x, y, t) +

t∫
0

l∫
0

h∫
0

G22x(x, y, t, ξ, η, τ)((c1(ξ, η, τ) − 1
2
a1(τ)b

′
1(ξ))u1+

+(c2(ξ, η, τ) − 1
2
a2(τ)b

′
2(η))u2 + c3(ξ, η, τ)u)dξdηdτ, (x, y, t) ∈ ΩT , 9�:

u2(x, y, t) = u0y(x, y, t) +

t∫
0

l∫
0

h∫
0

G22y(x, y, t, ξ, η, τ)((c1(ξ, η, τ) − 1
2
a1(τ)b

′
1(ξ))u1+

+(c2(ξ, η, τ) − 1
2
a2(τ)b

′
2(η))u2 + c3(ξ, η, τ)u)dξdηdτ, (x, y, t) ∈ ΩT . 9�C:

+ ��	���	���
 �������� ����	���� (6) �	'��� ��(%���

u(x, y, t) = u0(x, y, t) +

t∫
0

l∫
0

h∫
0

G22(x, y, t, ξ, η, τ)((c1(ξ, η, τ) − 1
2
a1(τ)b

′
1(ξ))u1+

+(c2(ξ, η, τ) − 1
2
a2(τ)b

′
2(η))u2 + c3(ξ, η, τ)u)dξdηdτ, (x, y, t) ∈ ΩT . 9��:

,����������*�� ��������������

∂

∂x
G22(x, y, t, ξ, η, τ) = − ∂

∂ξ

(√
b1(ξ)√
b1(x)

G12(x, y, t, ξ, η, τ)

)
,

∂

∂y
G22(x, y, t, ξ, η, τ) = − ∂

∂η

(√
b2(η)√
b2(y)

G21(x, y, t, ξ, η, τ)

)
,

a1(τ)
∂

∂ξ

(√
b1(ξ)

∂

∂ξ

(√
b1(ξ)Gij(x, y, t, ξ, η, τ)

))
+

+a2(τ)
∂

∂η

(√
b2(η)

∂

∂η

(√
b2(η)Gij(x, y, t, ξ, η, τ)

))
= − ∂

∂τ
Gij(x, y, t, ξ, η, τ), 9�1:

��	/��
� ������� ���  ���
�� u0(x, y, t) �	 ����������
� �
����
�

u0x(x, y, t) =
1√
b1(x)


 l∫

0

h∫
0

√
b1(ξ)G12(x, y, t, ξ, η, 0)ϕξ(ξ, η)dξdη+

+b1(0)

t∫
0

l∫
0

∂

∂ξ

(√
b1(ξ)G12(x, y, t, ξ, η, τ)

) ∣∣∣
ξ=0

a1(τ)µ1(η, τ)dηdτ−
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−b1(h)

t∫
0

l∫
0

∂

∂ξ

(√
b1(ξ)G12(x, y, t, ξ, η, τ)

) ∣∣∣
ξ=h

a1(τ)µ2(η, τ)dηdτ−

b2(0)

t∫
0

h∫
0

√
b1(ξ) ×G12(x, y, t, ξ, 0, τ)a2(τ)µ3ξ(ξ, τ)dξdτ+

+b2(l)

t∫
0

h∫
0

√
b1(ξ)G12(x, y, t, ξ, l, τ)a2(τ)µ4ξ(ξ, τ)dξdτ+

+

t∫
0

l∫
0

h∫
0

√
b1(ξ)G12(x, y, t, ξ, η, τ)fξ(ξ, η, τ)dξdηdτ


 , 9�2:

u0y(x, y, t) =
1√
b2(y)


 l∫

0

h∫
0

√
b2(η)G21(x, y, t, ξ, η, 0)ϕη(ξ, η)dξdη−

−b1(0)

t∫
0

l∫
0

√
b2(η)G21(x, y, t, 0, η, τ)a1(τ)µ1η(η, τ)dηdτ + b1(h)

t∫
0

l∫
0

√
b2(η)×

×G21(x, y, t, h, η, τ)a1(τ)µ2η(η, τ)dηdτ+b2(0)

t∫
0

h∫
0

∂

∂η

(√
b2(η)G21(x, y, t, ξ, η, τ)

) ∣∣∣
η=0

×

×a2(τ)µ3(ξ, τ)dξdτ − b2(l)

t∫
0

h∫
0

∂

∂η

(√
b2(η)G21(x, y, t, ξ, η, τ)

) ∣∣∣
η=l

a2(τ)µ4(ξ, τ)dξdτ+

+

t∫
0

l∫
0

h∫
0

√
b2(η)G21(x, y, t, ξ, η, τ)fη(ξ, η, τ)dξdηdτ


 . 9�5:

7	� �	
� ��	/��
� ������� u0xx �	 u0yy

u0xx(x, y, t) = − b′1(x)
2b1(x)

u0x(x, y, t)+

+
1

b1(x)


 l∫

0

h∫
0

G22(x, y, t, ξ, η, 0)
(
b1(ξ)ϕξξ(ξ, η) +

b′1(ξ)
2

ϕξ(ξ, η)
)
dξdη−

−b1(0)

t∫
0

l∫
0

G22(x, y, t, 0, η, τ)

(
µ1τ (η, τ) − fξ(0, η, τ) − (b2(η)µ1ηη(η, τ)+
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+
b′2(η)

2
µ1η(η, τ)

)
a2(τ)

)
dηdτ + b1(h)

t∫
0

l∫
0

G22(x, y, t, h, η, τ)
(
µ2τ (η, τ) − fξ(h, η, τ)−

−
(
b2(η)µ2ηη(η, τ) + +

b′2(η)
2

µ2η(η, τ)
)
a2(τ)

)
dηdτ−

−b2(0)

t∫
0

h∫
0

G22(x, y, t, ξ, 0, τ)a2(τ)
(
b1(ξ)µ3ξξ(ξ, η) +

b′1(ξ)
2

µ3ξ(ξ, τ)
)
dξdτ +

+b2(l)

t∫
0

h∫
0

G22(x, y, t, ξ, l, τ)a2(τ)
(
b1(ξ)µ4ξξ(ξ, η) +

b′1(ξ)
2

µ4ξ(ξ, τ)
)
dξdτ+

+

t∫
0

l∫
0

h∫
0

G22(x, y, t, ξ, η, τ)
(
b1(ξ)fξξ(ξ, η, τ) +

b′1(ξ)
2

fξ(ξ, η, τ)
)
dξdηdτ


 , 9��:

u0yy(x, y, t) = − b′2(y)
2b2(y)

u0y(x, y, t)+

+
1

b2(y)


 l∫

0

h∫
0

G22(x, y, t, ξ, η, 0)
(
b2(η)ϕηη(ξ, η) +

b′2(η)
2

ϕη(ξ, η)
)
dξdη−

−b1(0)

t∫
0

l∫
0

G22(x, y, t, 0, η, τ)a1(τ)
(
b2(η)µ1ηη(η, τ) +

b′2(η)
2

µ1η(η, τ)
)
dηdτ+

+b1(h)

t∫
0

l∫
0

G22(x, y, t, h, η, τ)a1(τ)
(
b2(η)µ2ηη(η, τ) +

b′2(η)
2

µ2η(η, τ)
)
dηdτ−

−b2(0)

t∫
0

h∫
0

G22(x, y, t, ξ, 0, τ)

(
µ3τ (ξ, τ) − fη(ξ, 0, τ) −

(
b1(ξ)µ3ξξ(ξ, τ)+

+
b′1(ξ)

2
µ3ξ(ξ, τ)

)
a1(τ)

)
dξdτ + b2(l)

t∫
0

h∫
0

G22(x, y, t, ξ, l, τ)

(
µ4τ (ξ, τ) − fη(ξ, l, τ)−

−
(
b1(ξ)µ4ξξ(ξ, τ) +

b′1(ξ)
2

µ4ξ(ξ, τ)

)
a1(τ)

)
dξdτ+

+

t∫
0

l∫
0

h∫
0

G22(x, y, t, ξ, η, τ)

(
b2(η)fηη(ξ, η, τ) +

b′2(η)
2

fη(ξ, η, τ)

)
dξdηdτ

)
. 9�8:
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0���	��
� uxx = u3, uyy = u4, uxy = u5� ,����������*�� 9�1:# � 9�:# 9�C: �)�����"
�#
$�

u3(x, y, t) = u0xx(x, y, t) +
1√
b1(x)

t∫
0

l∫
0

h∫
0

G12x(x, y, t, ξ, η, τ)
√
b1(ξ)×

×
((

c1ξ(ξ, η, τ) + c3(ξ, η, τ) − a1(τ)
2

b′′1(ξ)
)
u1 + c2ξ(ξ, η, τ)u2+

+
(
c1(ξ, η, τ) − a1(τ)

2
b′1(ξ)

)
u3+

+
(
c2(ξ, η, τ) − a2(τ)

2
b′2(η)

)
u5 + c3ξ(ξ, η, τ)u

)
dξdηdτ, (x, y, t) ∈ ΩT , 9��:

u4(x, y, t) = u0yy(x, y, t) +
1√
b2(y)

t∫
0

l∫
0

h∫
0

G21y(x, y, t, ξ, η, τ)
√
b2(η)×

×
(
c1η(ξ, η, τ)u1 +

(
c2η(ξ, η, τ) + c3(ξ, η, τ) − a2(τ)

2
b′′2(η)

)
u2+

+
(
c2(ξ, η, τ) − a2(τ)

2
b′2(η)

)
u4+

+
(
c1(ξ, η, τ) − a1(τ)

2
b′1(ξ)

)
u5 + c3η(ξ, η, τ)u

)
dξdηdτ, (x, y, t) ∈ ΩT . 9�?:

�%� ��	���&���� 
��	��� �������� uxy ��
�	���� ��������
�# $� ��� �
�"��� ci#
i = 1, 3 ����	���� (%	���� 0���� ����
�*"
� �������� (1) �	 �
��� (2) �	 x � �	
y# �
��� (3) �	 y# 	 �
��� (4) �	 x� , ����
	��/ �	�	�� ��������	"
� ����	�����
uxy = u5� +	����*�� �� ����)���� �	 ����
�(�*  ���
�� D���	 �	 ����(��*�� �	���!
�	
� ���	���# $� 
������ ������� ���  ���
�� u5(x, y, t) �	 ���(� ������� ���  ���
�/
ci(x, y, t)# i = 1, 3# ����
	"
�

u5(x, y, t) =

l∫
0

h∫
0

G11(x, y, t, ξ, η, 0)ϕξη(ξ, η)dξdη+
√
b1(0)

t∫
0

l∫
0

∂

∂ξ

(
G11(x, y, t, ξ, η, τ)×

×
√
b1(ξ)

)∣∣∣
ξ=0

a1(τ)µ1η(η, τ)dηdτ −
√
b1(h)

t∫
0

l∫
0

∂

∂ξ

(√
b1(ξ)G11(x, y, t, ξ, η, τ)

)∣∣∣
ξ=h

×

×a1(τ)µ2η(η, τ)dηdτ +
√
b2(0)

t∫
0

h∫
0

∂

∂η

(√
b2(η)G11(x, y, t, ξ, η, τ)

)∣∣∣
η=0

a2(τ)×

×µ3ξ(ξ, τ)dξdτ −−
√
b2(l)

t∫
0

h∫
0

∂

∂η

(√
b2(η)G11(x, y, t, ξ, η, τ)

)∣∣∣
η=l

a2(τ)µ4ξ(ξ, τ)dξdτ−
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−1
2

t∫
0

l∫
0

h∫
0

G11(x, y, t, ξ, η, τ)(a1(τ)b
′′
1 (ξ) + a2(τ)b

′′
2 (η))u5dξdηdτ−

−
t∫

0

l∫
0

h∫
0

(
G11ξ(x, y, t, ξ, η, τ)

((
c1(ξ, η, τ)+

1
2
a(τ)b

′
1(ξ)

)
u5+c3(ξ, η, τ)u2+c1η(ξ, η, τ)u1+

+c3η(ξ, η, τ)u + fη(ξ, η, τ)
)

+

+G11η(x, y, t, ξ, η, τ)
((

c2(ξ, η, τ) +
1
2
a(τ)b

′
2(η)

)
u5 + c2ξ(ξ, η, τ)u2

))
dξdηdτ. 9��:

+ 9��: �����# $� ������ ���	������ �����$��� �	 (%	������ ��� �
�"���� ��������
9�: �� �����'���
,�����
� � 9�: �������� �%� ��	���&����  ���
�/ a1(t) �	 a2(t)� ;���	���

���/
�
� � 9�: x = 0# y = 0� 7���

ut(0, 0, t) = a1(t)b1(0)u3(0, 0, t) + a2(t)b2(0)u4(0, 0, t) + c1(0, 0, t)u1(0, 0, t)+

+c2(0, 0, t)u2(0, 0, t) + c3(0, 0, t)u(0, 0, t) + f(0, 0, t).

0���� ����
�*�	��� ����� �������������� � 9�:# 
	��
�
�

ut(0, 0, t) = ν′1(t).

0���������� ��	�� �	����� ���� ���	���� ��������/ � ��	���	��� ��	/��� �
���
92:# 95: �	 �
��� ��������	����� 9�:# ����&�"
�

a1(t)b1(0)u3(0, 0, t) + a2(t)b2(0)u4(0, 0, t) + c1(0, 0, t)µ1(0, t) + c2(0, 0, t)µ3(0, t)+

+c3(0, 0, t)ν1(t) + f(0, 0, t) = ν′1(t), t ∈ [0, T ]. 91C:

;�������������

a1(t)b1(h)u3(h, 0, t) + a2(t)b2(0)u4(h, 0, t) + c1(h, 0, t)µ2(0, t) + c2(h, 0, t)µ3(h, t)+

+c3(h, 0, t)ν2(t) + f(h, 0, t) = ν′2(t), t ∈ [0, T ], 91�:

��	�������� �	� �	
��
E���)���*�� �����
� (20)# (21) �������� ������
��  ���
�/ a1(t) �	 a2(t)# �����!

��
� �� �	��� �����
�<

a1(t)S3(t) = S1(t)u4(h, 0, t) − S2(t)u4(0, 0, t), t ∈ [0, T ], 911:

a2(t)b2(0)S3(t) = S2(t)b1(0)u3(0, 0, t) − S1(t)b1(h)u3(h, 0, t), t ∈ [0, T ], 912:

�� S3(t) = b1(0)u3(0, 0, t)u4(h, 0, t) − b1(h)u3(h, 0, t)u4(0, 0, t)�
,���	��
� �
����  ���
�� S3(t) ������ +�'�	��
� �� �	�<

S3(t) = (b1(0) − b1(h))u3(h, 0, t)u4(h, 0, t) + b1(0)u4(h, 0, t)(u3(0, 0, t) − u3(h, 0, t))+
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+b1(h)u3(h, 0, t)(u4(h, 0, t) − u4(0, 0, t)), t ∈ [0, T ], 915:

� ���	&�
�# $� � 915: �����/ ���	��� ���	���/# ���� 3 �����)"
�� �	 �����
� ��!
��%����
� �	����
� ���
�&���
+ �
��� 9F1: �	 9�2:39�8: ���%��	"# $� ��� t = 0 � 9��:# 9�?: " %��� ���	���

���	���# 	 ��� ���� �'���	*���� � ��%�� 7�
�

u3(x, y, 0) =
1

b1(x)

l∫
0

h∫
0

G22(x, y, 0, ξ, η, 0)b1(ξ)ϕξξ(ξ, η)dξdη = ϕxx(x, y), (x, y) ∈ D,

91�:

u4(x, y, 0) =
1

b2(y)

l∫
0

h∫
0

G22(x, y, 0, ξ, η, 0)b2(η)ϕηη(ξ, η)dξdη = ϕyy(x, y), (x, y) ∈ D.

918:
4�&�# ����" T1, 0 < T1 � T �	��# $� ��	��%��� �
����

u3(x, y, t) � 1
2

minϕxx(x, y) = C1 > 0, (x, y) ∈ D, t ∈ [0, T1], 91�:

u4(x, y, t) � 1
2

minϕyy(x, y) = C2 > 0, (x, y) ∈ D, t ∈ [0, T1]. 91?:

,�������	��� 91�:# �	����
� u3(x, 0, t) � �	��
� ��(%���<

u3(x, 0, t) =

l∫
0

h∫
0

G22(x, 0, t, ξ, η, 0)ϕξξ(ξ, η)dξdη+

+

l∫
0

h∫
0

G22(x, 0, t, ξ, η, 0)
b1(ξ) − b1(x)

b1(x)
ϕξξ(ξ, η)dξdη +O(t), 91�:

�� �	 ������ �����
� � -�# �� ��. ���(�/ ���	��� � 91�: ���
�" �� ��%�# ��%� t → 0�
E��(%���
� �����
*

u3(0, 0, t)−u3(h, 0, t) =

l∫
0

h∫
0

(G22(0, 0, t, ξ, η, 0) −G22(h, 0, t, ξ, η, 0))ϕξξ(ξ, η)dξdη+O(t)=

=
1

π
√
α1(t)α2(t)

l∫
0

1√
b2(η)

+∞∑
m=−∞

exp
(
− (β2(η) + 2mL)2

4α2(t)

)
dη×

×
h∫

0

ϕξξ(ξ, η)√
b1(ξ)

+∞∑
n=−∞

(−1)n exp
(
− (β1(ξ) + nH)2

4α1(t)

)
dξ +O(t), 92C:
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�� � ����(�	%� �	 �
����* ξ �������
� �	
��� �
����� β1(ξ) = ζ � ����')"
� /�(� �	
��	< ��� 0 �� H/2 � ��� H/2 �� H � , ����(�	%� ��� H/2 �� H ���'�
� �	
��� H−ζ = s�
0��%� ����%	���� ����������� 
	��
�
�

u3(0, 0, t)− u3(h, 0, t) =
1

π
√
α1(t)α2(t)

l∫
0

1√
b2(η)

+∞∑
m=−∞

exp
(
− (β2(η) + 2mL)2

4α2(t)

)
dη×

×
H
2∫

0

(
ϕξξ(β−1

1 (ζ), η) − ϕξξ(β−1
1 (H − ζ), η)

) +∞∑
n=−∞

(−1)n exp
(
− (ζ + nH)2

4α1(t)

)
dζ +O(t).

92�:
,�	���	��� 9F1:# � 92�: ���%��	" �����	��� �	��(� T2# 0 < T2 � T # $� ��	��%��	
�
���	

u3(0, 0, t) − u3(h, 0, t) � 0, t ∈ [0, T2]. 921:

7	� �	
� ��	����
� 	�	%�(���� �������������� �%� �����
� ���(�� �������� �	 �
��!
��* y<

u4(0, 0, t) − u4(h, 0, t) � 0, t ∈ [0, T3]. 922:

,�	����*�� 91�:# 91?: �	 921:# 922:# � 915: ����
�"
� �
����

S3(t) � (b1(0) − b1(h))
4

C1C2 > 0, t ∈ [0, T4], 925:

�� T4 = min
i=1,3

Ti�

7��� �	 ������ 925: � 911:# 912: ����	�	"
� �����
� �%� ��	���&���� ������
��
 ���
�/ ak(t), k = 1, 2

a1(t) =
S1(t)u4(h, 0, t) − S2(t)u4(0, 0, t)

S3(t)
, t ∈ [0, T4], 92�:

a2(t) =
S2(t)b1(0)u3(0, 0, t) − S1(t)b1(h)u3(h, 0, t)

b2(0)S3(t)
, t ∈ [0, T4]. 928:

4��&# �	�	�	 9�:!9�: ������	 �� �����
� ������� 9�:!9��:# 9��:!9��:# 92�:# 928: �
����)���� 
�"� �	�	�� �	  ���
�� u1 = ux(x, y, t), u2 = uy(x, y, t), u3 = uxx(x, y, t), u4 =
uyy(x, y, t), u5 = uxy(x, y, t) �	����%���*�� 
* �����
�� + ����(� '���# ��$�
(a1(t), a2(t), u, u1, u2, u3, u4, u5) ∈ (C[0, T ]2×(C(ΩT4)6), a(t) > 0, t ∈ [0, T4]) 3 ����)����

�"� �����
�# ��# �����������*�� �%	�������� "������� ����)���� �����
 ����(�	%�!
��� ������� ,�%�����	 ���(�(� ����# %�(�� ����	����# $� u1 = ux, u2 = uy, u3 =
uxx, u4 = uyy, u5 = uxy �  ���
�� u(x, y, t) " ����)����
 �������� 98:� �	 ������
�%	��������/ �')"
��� �����
�	%�� -�.# ����	�	"
�# $� u ∈ C2,1(ΩT4) � " ����)����

�	�	�� 9�:!95:� ,����	��� �
�� 9�: ���%��	" � ��������/ 92�:# 928:�
4�&�# ������	 �	�	�	 � �����
	 ������� 9�:!9��:# 9��:!9��:# 92�:# 928: �����	%�����

��� (x, y) ∈ D, t ∈ [0, T4]�
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�%� ��������� �����	��� ����)���� ����
	��� �����
� ��������	"
� �����
�
G	����	 ��� ������
� ����� 
�%��
 ����������(� ����	���	 -?.� 0�������
 �)���"
�
	������� �
���� ����)����� 
�"� �����
��
4���%���

a1(t) =
S1(t)(u4(h, 0, t) − u4(0, 0, t))

S3(t)
+

(S1(t) − S2(t))u4(0, 0, t)
S3(t)

�

� S1(t)
b1(h)u3(h, 0, t)

+
S1(t) − S2(t)

(b1(0) − b1(h))u3(h, 0, t)
=

b1(0)S1(t) − b1(h)S2(t)
b1(h)(b1(0) − b1(h))u3(h, 0, t)

, t∈ [0, T4],

�� � ���(�
� ���	��� S3(t) �	���	�� � �	��
� ��(%���<

S3(t) = (b1(0) − b1(h))u3(h, 0, t)u4(0, 0, t) + b1(0)u4(0, 0, t)(u3(0, 0, t) −
− u3(h, 0, t)) + b1(0)u3(0, 0, t)(u4(h, 0, t) − u4(0, 0, t)).

,�������	��� 91�:# � ����������� ���������� ����&�
� �
���� a(t) ������

a1(t) �
max

t∈[0,T ]
(b1(0)S1(t) − b1(h)S2(t))

C1b2(h)(b1(0) − b1(h))
= C3 <∞, t ∈ [0, T4]. 92�:

7	��
 �	
�
 �����'�
 ����	�	"
�# $�

a2(t) � C4 <∞, t ∈ [0, T4]. 92?:

�%� �
���� ai(t)# i = 1, 2 ����� ���������� �
���
� |u(x, y, t)|# |uk(x, y, t)|# k = 1, 5#
�������
+� �������������� 9��:# � ��	���	���
 92�:# 92?: ��	����
�# $�

U0(t) � C5 + C6

t∫
0

(U0(τ) + U1(τ) + U2(τ)) dτ, t ∈ [0, T4], 92�:

�� U0(t) = max
(x,y)∈D

|u(x, y, t)|, Uk(t) = max
(x,y)∈D

|uk(x, y, t)|, k = 1, 5�

7	� �	
� � 9�:# 9�C: ����
�"
�

U1(t) � C7 + C8

t∫
0

U0(τ) + U1(τ) + U2(τ)√
α1(t) − α1(τ)

dτ, t ∈ [0, T4], 95C:

U2(t) � C9 + C10

t∫
0

U0(τ) + U1(τ) + U2(τ)√
α2(t) − α2(τ)

dτ, t ∈ [0, T4]. 95�:

7��� � 9��:!9��: ���%��	"# $�

U3(t) � C11 + C12

t∫
0

dτ√
α1(t) − α1(τ)

+
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+C13

t∫
0

U0(τ) + U1(τ) + U2(τ) + U3(τ) + U5(τ)√
α1(t) − α1(τ)

dτ, t ∈ [0, T4], 951:

U4(t) � C14 + C15

t∫
0

dτ√
α2(t) − α2(τ)

+

+C16

t∫
0

U0(τ) + U1(τ) + U2(τ) + U4(τ) + U5(τ)√
α2(t) − α2(τ)

dτ, t ∈ [0, T4], 952:

U5(t) � C17 + C18

t∫
0

U5(τ)dτ + C19

t∫
0

(U0(τ) + U1(τ) + U2(τ) + U5(τ))dτ√
α1(t) − α1(τ)

+

+C20

t∫
0

U2(τ) + U5(τ)√
α2(t) − α2(τ)

dτ, t ∈ [0, T4]. 955:

0���	��
�
5∑

i=0

Ui(t) = U(t)� ���	��� 92�:!955:# �)�����"
�# $� ���	��&�"����

����������

U(t) � C21 + C22

t∫
0

(
1√

α1(t) − α1(τ)
+

1√
α2(t) − α2(τ)

)
dτ+

+C23

t∫
0

(
1√

α1(t) − α1(τ)
+

1√
α2(t) − α2(τ)

)
U(τ)dτ, t ∈ [0, T4]. 95�:

,����
� �	��  ���
�*<

A(t) ≡ 1√
min

τ∈[0,t]
a1(τ)

+
1√

min
τ∈[0,t]

a2(τ)
.

4
���
� ����� ��	
������ �������(�	%���� ���	��� � 95�:

U(t) � C21 + C24

√
tA(t) + C25A(t)

t∫
0

U(τ)dτ√
t− τ

, t ∈ [0, T4].

+	����
� 
* ���������� � �	��
� ��(%���<

U(t) � p(t) + q(t)

t∫
0

U(τ)dτ√
t− τ

, t ∈ [0, T4], 958:
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�� p(t) = C21 +C24

√
tA(t)# q(t) = C25A(t)� ��
��&�
� 958: �	

√
t− σ � �������(��"
�

��� 0 �� t

t∫
0

U(σ)dσ√
t− σ

�
t∫

0

p(σ)dσ√
t− σ

+

t∫
0

q(σ)dσ√
t− σ

σ∫
0

U(τ)dτ√
σ − τ

, t ∈ [0, T4]. 95�:

+
���
� ������� ����(���	��� � ���	����
� ���	��� � ��	��"
� ��������

t∫
τ

dσ√
(t− τ)(σ − τ )

= π

�	 
�����������  ���
�� q(t)# ��	�%���� ��(� ����
	"
� �
����

t∫
0

U(σ)dσ√
t− σ

�
t∫

0

p(σ)dσ√
t− σ

+ πq(t)

t∫
0

U(τ)dτ, t ∈ [0, T4]. 95?:

0����	��
� 948: � 946: � �����
� ����	����� ψ(t) ≡ p(t)+q(t)

t∫
0

p(σ)dσ√
t− σ

# χ(t) ≡ πq2(t)

U(t) � ψ(t) + χ(t)

t∫
0

U(τ)dτ, t ∈ [0, T4]. 95�:

>��� � ��	�� �	����� 949: �����%�
� �	 χ(t) � ����	��
� ω(t) ≡ ψ(t)
χ(t)

+

t∫
0

U(τ)dτ �

7���

U(t) � χ(t)ω(t). 9�C:

4���%���

ω′(t) =
(
ψ(t)
χ(t)

)′
+ U(t) �

(
ψ(t)
χ(t)

)′
+ χ(t)ω(t),

�� ���	��&�"���� ����������

ω′(t) − χ(t)ω(t) �
(
ψ(t)
χ(t)

)′
,

� ���� ���%��	" �	�� ��������������<


ω(t)e

−
t∫
0

χ(σ)dσ




′

�
(
ψ(t)
χ(t)

)′
e
−

t∫
0

χ(σ)dσ
. 9��:
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+����(��"
� 9��: �	 ���
�&�� ��� 0 �� t� 4'���%**�� ����(�	%�# ����
	��/ �����!
����� �	�	
� �	��(� ��(%���<

ω(t) � e

t∫
0

χ(σ)dσ


ψ(0)
χ(0)

+

t∫
0

(
ψ(τ)
χ(τ)

)′
e
−

τ∫
0

χ(σ)dσ
dτ


 =

ψ(t)
χ(t)

+

t∫
0

ψ(τ)e

t∫
τ

χ(σ)dσ
dτ.

0����	�%�*�� ���	��* ���������� � 950:# �)�����"
�# $�

U(t) � ψ(t) + χ(t)

t∫
0

ψ(τ)e

t∫
τ

χ(σ)dσ
dτ.

0����������� ��  ���
�/ p(t)# q(t) �	 �
������ ������� ����(���	���# 
	��
�
�
�	�� ����������<

U(t) � p(t) + q(t)

t∫
0

p(σ)dσ√
t− σ

+ πq2(t)
( t∫

0

p(τ)e
π

t∫
τ

q2(σ)dσ
dτ +

+

t∫
0

p(z)dz

t∫
z

q(τ)√
τ − z

e
π

t∫
τ

q2(σ)dσ
dτ

)
. 9�1:

,�	���	��� ��(%��  ���
�/ p(t), q(t)# �	�	
� 952: �	��(� ��(%���<

U(t) � C21 + C24

√
tA(t) + C25A(t)

t∫
0

C21 + C24
√
τA(τ)√

t− τ
dτ +

+ πC2
25A

2(t)
( t∫

0

(
C21 + +C24

√
τA(τ)

)
e

C2
25π

t∫
τ

A2(σ)dσ
dτ +

+ C25

t∫
0

(
C21 + C24

√
zA(z)

)
dz

t∫
z

A(τ)√
τ − z

e
C2

25π
t∫

τ

A2(σ)dσ
dτ

)
.

9�2:

4
������ ���������� � 953: ������ � ���	���	��� ����&	�� ����(�	%�# 
	��
�
�

U(t) � C21 + C26

√
tA(t) + C27tA

2(t) +

+ e
C2

25π
t∫
0

A2(σ)dσ(
C28tA

2(t) + C29t
3
2A3(t) + C30t

2A4(t)
)
.

+	������	��� ���������� ����# �������
� �� �	��(� ��������������<

U(t) � C31 + C32tA
2(t) +

(
C33t+ C34t

2A4(t)
)
e

C2
25π

t∫
0

A2(τ)dτ
. 9�5:
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+ 92�:# 928:# ��	����*�� ���	������  ���
�/ u3# u4 �	 [0, T4]# ����	�	"
� �	�� �
����<

a1(t) � S1(t) − S2(t)
b1(0)u3(0, 0, t)

, a2(t) � (S2(t)b1(0) − S1(t)b1(h))
b1(0)b2(0)u4(h, 0, t)

, t ∈ [0, T4],

������ ���%��	"# $�

ai(t) � C35

U(t)
, i = 1, 2, t ∈ [0, T4]. 9��:

4���%��� ��	
����� ��	��� �	����� 9��: " 
�������� �����	*��*  ���
�"*# ��
���	��&�"���� �	�	 ����������<

min
τ∈[0,t]

ai(τ) � C35

U(t)
, i = 1, 2, t ∈ [0, T4].

7���

A(t) � C36

√
U(t), t ∈ [0, T4]

� 9�5: 
	��
� �	��/ ��(%��<

A2(t) � C37 + C38tA
2(t) +

(
C39t+ C40t

2A4(t)
)
e

C2
25π

t∫
0

A2(τ)dτ
. 9�8:

0���	��
� A2(t) ≡ w(t) � ��	/��
� T5# 0 < T5 � T �	��# $�' C38T5 � 1/2� 7��� � 9�8:
���%��	"# $�

w(t) � C41 +
(
C42t+ C43t

2w2(t)
)
e

C44

t∫
0

w(τ)dτ
, t ∈ [0, T6],

�� T6 = min{T4, T5}� +�����

w(t)


1 − C43t

2w(t)e
C44

t∫
0

w(τ)dτ


 � C41 + C42te

C44

t∫
0

w(τ)dτ
, t ∈ [0, T6].

H���" T7# 0 < T7 � T �	��# $� 1 − C43t
2w(t)e

C44

t∫
0

w(τ)dτ
� 1/2# t ∈ [0, T7]� 7���

w(t) � C45 + C46te
C44

t∫
0

w(τ)dτ
, t ∈ [0, T8], 9��:

�� T8 = min{T6, T7}� 0������� �	
��� e
C44

t∫
0

w(τ)dτ ≡ z(t) �	 ��	���	���# $� z(t) � 1#
9��: �	����
� �	�<

z′(t)
z2(t)

� C44C45

z(t)
+ C44C46t � C47 + C48t, t ∈ [0, T8]. 9�?:
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+����(��"
� 9�?: �	 ���
�&�� ��� 0 �� t� 0��%� ������������ 
	��
�
�

z(t) � 1
1 − C47t− C49t2

, t ∈ [0, T8]. 9��:

,�'���
� T9# 0 < T9 � T �	�# $�' 1 − C47T9 − C49T
2
9 > 0 � ��������	��
� T0 =

min{T8, T9}� + 9��: ����
�"
�
z(t) � C50, t ∈ [0, T0],

������# ������������ �� ��	��� ����	����# ��	����
� �
����

U(t) � C51, t ∈ [0, T0].

7��� � �����
� ����������/ 92�:!955: ����	�	"
� �	�� �
����<

|u(x, y, t)| � C52 <∞, |ui(x, y, t)| � C53 <∞, i = 1, 5, (x, y, t) ∈ ΩT0 . 98C:

+	 ����
�(�* ����������/ 98C: � 9��: 
	��
�
�

ai(t) � A0 > 0, i = 1, 2, t ∈ [0, T0]. 98�:

0�� �	������� 	�������� �
���� ����)����� �����
� 9�:!9��:# 9��:!9��:# 92�:# 928: ��!
������	 �
�� �����
� G	����	 ����������� 	�	%�(���� �� ��'��� -1.� 7����
� �
���������

1� E��(%���
� ��������* �	�	�� � �%	��  ���
�/# ����������� �	 D�%�����
�
, �'%	��� ΩT ���%���
� �����	��� ����)���� �'������� �	�	�� ��	���&���� ���/��
 ���
�/ (a1, a2, u) ∈ Hγ/2[0, T ] × H2+γ,1+γ/2(ΩT ), 0 < γ < 1, ai(t) > 0, i = 1, 2, t ∈
[0, T ]# $� �	���I%���*�� �
��� 9�:!9�:� 0�	��%��	 �	�	 �����
	�

���
��� �� ����.@ 0��� 3�1/ (A2)@ (A3)@ /�0123<�56� 3�1/�A
(A1

′
) ϕ ∈ H2+γ(D), µi ∈ H2+γ,1+γ/2([0, l]×[0, T ]), i = 1, 2, µi ∈ H2+γ,1+γ/2([0, h]×

[0, T ]), i = 3, 4, νi ∈ H1+γ/2[0, T ], i = 1, 2, b1 ∈ C2[0, h], b2 ∈ C2[0, l], f ∈ H2,2,γ/2(ΩT )@
ci ∈ H1,1,γ/2(ΩT ), i = 1, 3�

�17� 8�7�9� : ;
:#; ��< �18/=�810 / 0?�6� Hγ/2[0, T0]×H2+γ,1+γ/2(ΩT0)@ 7� T0, 0 <
T0 � T @ /�82�9�<�56� /���72��� 7�2��� 8�7�9��

���������� ��������� 
�"� �����
� 	�	%�(���� �� ��������� �����
� �# %��� ���'	
�)����	��# $� ����)���� ��J��
� 9�:!9��:# 9��:!9��:# 92�:# 928: �	%�&��� �%	��  ��!
�
�/# ����������� �	 D�%�����
 (a, u, ui) ∈ Hγ/2[0, T0] × (Hγ,γ/2(ΩT0))6# i = 1, 5�
�%� ���� Kij(x, y, t, ξ, η, τ) ����(�	%���� ������� 9�:!9��:# 9��:!9��: ���	��&�*!

���� �
����
l∫

0

h∫
0

|Kij(x, y, t, ξ, η, τ)|dξdη � C1√
t− τ

,

t∫
0

l∫
0

h∫
0

|Kij(x, y, t, ξ, η, τ)|dξdηdτ � C2

√
t.
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7�
� �(���� � �����
�* 5 -�# �� 511. ����
�"
�# $� (u, ui) ∈ (Hγ,γ/2(ΩT0))
6# i = 1, 5�

7��� � �����
� ������� 92�:!928: ���%��	"# $� ai(t) ∈ Hγ/2[0, T0]# i = 1, 2 � �	 ������
�����
� ��2 -�C# �� 285. ��'�
� ��������# $� u(x, y, t) ∈ H2+γ,1+γ/2(ΩT0)�

2� 0���/��
� �� ���	��� "������� ����)���� �	�	�� 9�:!9�:�

���
��� �� ����. 6���/7B3<�56� 3�1/�
(A4) ci(x, y, t) ∈ Hγ,γ,γ/2(ΩT ), i = 1, 3, b1(x) ∈ Hγ [0, h], b1(x) > 0, b2(y) ∈

Hγ [0, l], b2(y) > 0, b1(0) − b1(h) > 0, ϕxx(x, y) > 0, ϕyy(x, y) > 0, (x, y) ∈ [0, h] ×
[0, l], ϕxx(β−1

1 (ζ), y) − ϕxx(β−1
1 (H − ζ), y) � 0, ϕyy(β−1

1 (ζ), y) − ϕyy(β−1
1 (H − ζ), y) �

0, (ζ, y) ∈ [0, H/2) × [0, l].
�17� �18/=�810 8�7�9� : ;
:#; <7�2�. / 0?�6� Hγ/2[0, T ∗

0 ] × H2+γ,1+γ/2(ΩT∗
0
)@ 7�

9�6?1 T ∗
0 , 0 < T ∗

0 � T /�82�9�<�56� /���72��� 7�2��� 8�7�9��

����������0�������
�# $� ����" ��	 ����)���� 
�"� �	�	�� (a11, a12, u1), (a21, a22, u2)�
,����
� �	�� ����	����� A1(t) = a11(t) − a21(t), A2(t) = a12(t) − a22(t), U(x, y, t) =
u1(x, y, t) − u2(x, y, t)� 7��� ���/�	  ���
�/ (A1, A2, U) �	����%���" �
���

Ut = a11(t)b1(x)Uxx + a12(t)b2(y)Uyy +A1(t)b1(x)u2xx + A2(t)b2(y)u2yy+

+c1(x, y, t)Ux + c2(x, y, t)Uy + c3(x, y, t)U, (x, y, t) ∈ ΩT , 981:

U(x, y, 0) = 0, (x, y) ∈ [0, h] × [0, l], 982:

Ux(0, y, t) = Ux(h, y, t) = 0, (y, t) ∈ [0, l] × [0, T ], 985:

Uy(x, 0, t) = Uy(x, l, t) = 0, (x, t) ∈ [0, h] × [0, T ], 98�:

U(0, 0, t) = U(h, 0, t) = 0, t ∈ [0, T ]. 988:

,����������*��  ���
�* D���	 G∗
22 �	�	�� 962:!965:# �� ����)���� ��'�	��
� �	�<

U(x, y, t) =

t∫
0

l∫
0

h∫
0

G∗
22(x, y, t, ξ, η, τ)

(
A1(τ)b1(ξ)u2ξξ +A2(τ)b2(η)u2ηη

)
dξdηdτ, 98�:

(x, y, t) ∈ ΩT .

0��/
�
� � 962: x = 0, y = 0# ��	��"
� �
��� 963:!966: � ��'�	&���� ����)���� 967:�
4���
	"
�

−(A1(t)b1(0)u2xx(0, 0, t) +A2(t)b2(0)u2yy(0, 0, t)
)

=

= a11(t)b1(0)

t∫
0

dτ

l∫
0

h∫
0

G∗
22xx(0, 0, t, ξ, η, τ)

(
A1(τ)b1(ξ)u2ξξ+

+A2(τ)b2(η)u2ηη

)
dξdη + a12(t)b2(0)

t∫
0

dτ

l∫
0

h∫
0

G∗
22yy(0, 0, t, ξ, η, τ)

(
A1(τ)b1(ξ)u2ξξ+

+A2(τ)b2(η)u2ηη

)
dξdη, t ∈ [0, T ]. 98?:
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F�	%�(����# ��� x = h, y = 0 
	��
�
�

−(A1(t)b1(h)u2xx(h, 0, t) +A2(t)b2(0)u2yy(h, 0, t)
)

=

= a11(t)b1(h)

t∫
0

dτ

l∫
0

h∫
0

G∗
22xx(h, 0, t, ξ, η, τ)

(
A1(τ)b1(ξ)u2ξξ+

+A2(τ)b2(η)u2ηη

)
dξdη + a12(t)b2(0)

t∫
0

dτ

l∫
0

h∫
0

G∗
22yy(h, 0, t, ξ, η, τ)

(
A1(τ)b1(ξ)u2ξξ+

+A2(τ)b2(η)u2ηη

)
dξdη, t ∈ [0, T ]. 98�:

E���)���*�� 968:# 969: �������� ������
��  ���
�/ A2(t), A2(t)# �������
� �� �	���
�����
�<

−A1(t)
(
b1(0)u2xx(0, 0, t)u2yy(h, 0, t) − b1(h)u2xx(h, 0, t)u2yy(0, 0, t)

)
=

= a11(t)
(
b1(0)u2yy(h, 0, t)

t∫
0

dτ

l∫
0

h∫
0

G∗
22xx(0, 0, t, ξ, η, τ)×

×
(
A1(τ)b1(ξ)u2ξξ +A2(τ)b2(η)u2ηη

)
dξdη−

−b1(h)u2yy(0, 0, t)

t∫
0

dτ

l∫
0

h∫
0

G∗
22xx(h, 0, t, ξ, η, τ)×

×
(
A1(τ)b1(ξ)u2ξξ +A2(τ)b2(η)u2ηη

)
dξdη

)
+

+a12(t)b2(0)
(
u2yy(h, 0, t)

t∫
0

dτ

l∫
0

h∫
0

G∗
22yy(0, 0, t, ξ, η, τ)×

×
(
A1(τ)b1(ξ)u2ξξ +A2(τ)b2(η)u2ηη

)
dξdη−

−u2yy(0, 0, t)

t∫
0

dτ

l∫
0

h∫
0

G∗
22yy(h, 0, t, ξ, η, τ)×

×
(
A1(τ)b1(ξ)u2ξξ +A2(τ)b2(η)u2ηη

)
dξdη

)
, 9�C:

−A2(t)b2(0)
(
b1(h)u2xx(h, 0, t)u2yy(0, 0, t)− b1(0)u2xx(0, 0, t)u2yy(h, 0, t)

)
=
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= a11(t)b1(0)b1(h)
(
u2xx(h, 0, t)

t∫
0

dτ

l∫
0

h∫
0

G∗
22xx(0, 0, t, ξ, η, τ)×

×
(
A1(τ)b1(ξ)u2ξξ +A2(τ)b2(η)u2ηη

)
dξdη−

−u2xx(0, 0, t)

t∫
0

dτ

l∫
0

h∫
0

G∗
22xx(h, 0, t, ξ, η, τ)×

×
(
A1(τ)b1(ξ)u2ξξ +A2(τ)b2(η)u2ηη

)
dξdη

)
+

+a12(t)b2(0)
(
b1(h)u2xx(h, 0, t)

t∫
0

dτ

l∫
0

h∫
0

G∗
22yy(0, 0, t, ξ, η, τ)×

×
(
A1(τ)b1(ξ)u2ξξ +A2(τ)b2(η)u2ηη

)
dξdη−

−b1(0)u2xx(0, 0, t)

t∫
0

dτ

l∫
0

h∫
0

G∗
22yy(h, 0, t, ξ, η, τ)×

×
(
A1(τ)b1(ξ)u2ξξ +A2(τ)b2(η)u2ηη

)
dξdη

)
. 9��:

4���%���  ���
�� (a21(t), a21(t), u2(x, y, t)) " ����)����
 �	�	�� 9�:!9�:# �� � �
��� (A4)
���%��	"# $� b1(0)u2xx(0, 0, t)u2yy(h, 0, t)−b1(h)u2xx(h, 0, t)u2yy(0, 0, t) > 0# t ∈ [0, T ∗

0 ]�
4�&�# 970:# 971: 3 �����
	 ���������� ������� ,�%�����	 ���(�(� ���� � ����(���!
��
� ���	
�# � ��	�%���� "������� �� ����)���� Ai(t) ≡ 0# i = 1, 2# t ∈ [0, T ∗

0 ]� 0��	��
����)���� ���
�� �	�	�� "����/# �� ��'�
� ��������# $� U(x, y, t) ≡ 0, (x, y, t) ∈ ΩT∗

0
�
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FGHIH JIH KLMJ�NHO PKQH RKNO�M�KNP KS MGH HT�PMHNRH JNO UN�VUHNHPP KS J PKWUM��
KN SKI �NXHIPH YIKLWHQ Z�MG UN[NKZN YJIJQHMHIP �N QJ\KI RKH]R�HNMP KS MZK�
O�QHNP�KNJW YJIJLKW�R HVUJM�KN" Ĥ JPPUQHO MGJM MGHPH RKH]R�HNMP GJXH MGH SKIQ
KS YIKOURM KS MZK SUNRM�KNP OHYHNO�N_ KN MGH M�QH JNO KNH KS MGH PYJRH XJI�JLWHP
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